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Code No.
dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

• Please check that this question paper contains 8 printed pages + 2 Maps.

• Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

• Please check that this question paper contains 23 questions.

• Please write down the serial number of the question before attempting it.

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 8 + 2 ekufp=k gSaA

• iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

• Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 23 iz'u gSaA

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

HISTORY
bfrgklbfrgklbfrgklbfrgklbfrgkl

Time allowed : 3 Hours Maximum Marks : 100

fu/kkZfjr le; : 3 ?k.Vs vf/kdre vad :  100

General Instructions :

(i) Answer all the questions. Marks are indicated against each question.
(ii) Answers to questions carrying 2 marks should not exceed 30 words each.
(iii) Answers to questions carrying 5 marks should not exceed 100 words each.
(iv) Answers to questions carrying 8 marks should not exceed 250 words each.
(v) Attach the maps with the answer scripts.

lkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'klkekU; funsZ'k :

(i) lHkhlHkhlHkhlHkhlHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds vad mlds lkeus fy[ks gSaA

(ii) 2 vad okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA

(iii) 5 vad okys izR;sd iz'u dk mÙkj 100 'kCnksa ls vf/kd u gksA

(iv) 8 vad okys izR;sd iz'u dk mÙkj 250 'kCnksa ls vf/kd u gksA

(v) ekufp=k viuh mÙkj&iqfLrdk ds lkFk layXu dhft,A

MODERN INDIA

vk/kqfud Hkkjr

1. Briefly explain any two main consequences of the Third Battle of Panipat. 2

ikuhir ds rhljs ;q) ds fdUgha nks eq[; ifj.kkeksa dks la{ksi esa Li"V dhft,A

2. Explain the far-reaching effects of the Councils Act of 1861. 2

1961 ds dkmafly ,sDV ds nwjxkeh izHkkoksa dks Li"V dhft,A
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3. Mention the two proposals given by Raja Rammohan Roy to promote internationalism. 2

varjkZ"Vªh;rk dks c<+kus ds fy, jktk jkeeksgu jk; }kjk fn, x, nks izLrkoksa dk mYys[k dhft,A

4. Who founded the Satya Shodhak Mandal in Maharashtra ? Describe the significance of

the organisation in modern India. 1+4=5

OR

Describe the nature of political developments preceding the formation of the Indian
National Congress. Mention any organisation which can be called as the predecessor of

the Congress. 4+1=5

egkjk"Vª esa lR; 'kks/kd eaMy dh LFkkiuk fdlus dh \ vk/kqfud Hkkjr esa bl laLFkk dh egÙkk dk

o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjrh; jk"Vªh; dkaxzsl ds xBu ds iwoZ ds jktuhfrd ?kVukØeksa ds LoHkko dk o.kZu dhft,A fdlh

,slh laLFkk dk ukeksYys[k dhft, ftls dkaxzsl dh iwoZorhZ dgk tk ldsA

5. What was the Ilbert Bill controversy ? Explain its main contributions to the freedom

struggle of India. 2+3=5

OR

Explain the significance of moderate nationalism in the freedom struggle of India. Name

any two main moderate nationalists. 3+2=5

bycVZ fcy fookn D;k Fkk \ Hkkjr ds Lora=krk la?k"kZ esa blds izeq[k ;ksxnku Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr ds Lora=krk la?k"kZ esa mnkj jk"Vªokn ds egÙo dks Li"V dhft,A fdUgha nks izeq[k mnkj

jk"Vªokfn;ksa ds uke fyf[k,A

6. Describe the meaning of revolutionary movements in the context of the Indian freedom

struggle. Discuss three main reasons for the rise of such movements. 2+3=5

OR

Describe the  main provisions  of the Morley-Minto Reforms.  Describe the  nationalists’
attitude to the reforms.

Hkkjr ds Lora=krk la?k"kZ ds lanHkZ esa Økafrdkjh vkUnksyuksa ds rkRi;Z dk o.kZu dhft,A ,sls vkanksyuksa

ds mB [kM+s gksus ds rhu izeq[k dkj.kksa dh foospuk dhft,A

vFkokvFkokvFkokvFkokvFkok

ekWysZ&feaVks lq/kkjksa ds izeq[k izko/kkuksa dks o.kZu dhft,A bu lq/kkjksa ds izfr jk"Vªokfn;ksa ds #[k dk o.kZu

dhft,A
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7. Explain the main features of the Quit India Movement. Mention any one political group

which opposed the movement. 4+1=5

OR

What was the Poona Pact ? Examine Mahatma Gandhi’s role in it.  2+3=5

Hkkjr NksM+ks vkanksyu dh izeq[k fo'ks"krk,¡ Li"V dhft,A fdlh ,d jktuhfrd oxZ dk mYys[k dhft,

ftlus bl vkanksyu dk fojks/k fd;kA

vFkokvFkokvFkokvFkokvFkok

iwuk le>kSrk D;k Fkk \ blesa egkRek xk¡/kh dh Hkwfedk dk ijh{k.k dhft,A

8. Explain the nature of the political developments in Pondicherry during the course of the

freedom struggle. When was Pondicherry liberated ? 4+1=5

OR

Explain the demands of the ‘Muslim League’ for Pakistan. When did the League raise the
demand ?

Lora=krk la?k"kZ ds nkSjku ikafMpsjh esa jktuhfrd ?kVukØeksa ds Lo:i dks Li"V dhft,A ikafMpsjh dks

dc eqä fd;k x;k \

vFkokvFkokvFkokvFkokvFkok

ikfdLrku ds fy, ^eqfLye yhx* dh ek¡xksa dks Li"V dhft,A yhx us ;g ek¡x dc j[kh Fkh \

9. Explain the traditional trade routes between India and Europe in the medieval times.

Examine the main changes with regard to the trade routes after 1453. 3+5=8

OR

Which particular development made the English East India Company a political power in
the 1760s ? Explain the nature of dual administrative system during the period. Why

was the system withdrawn ? 2+4+2=8

e/; ;qx esa Hkkjr vkSj ;wjksi ds chp ikjaifjd O;kikj ekxks± dks Li"V dhft,A 1453 ds ckn O;kikj

ekxks± esa gq, izeq[k ifjorZuksa dk ijh{k.k dhft,A

vFkokvFkokvFkokvFkokvFkok

fdl fo'ks"k ?kVuk ds dkj.k 1760s ds n'kd esa vaxzstksa dh bZLV bafM;k dEiuh ,d jktuhfrd 'kfä

cu xbZ \ bl dky dh }S/k 'kklu iz.kkyh ds Lo:i dks Li"V dhft,A ;g iz.kkyh lekIr D;ksa

dh xbZ \



4

10. Explain how the Doctrine of Lapse was responsible for the outbreak of the Revolt of

1857. Explain the immediate cause of the revolt. 5+3=8

OR
Examine the nature of the Revolt of 1857.  Can it be called the First War of Indian
Independence ?

Li"V dhft, fd 1957 ds fonzksg ds fy, jkT;&vigj.k uhfr (Doctrine of Lapse)fdl izdkj

mÙkjnk;h FkhA fonzksg ds rkRdkfyd dkj.k dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

1857 ds fonzksg ds Lo:i dk ijh{k.k dhft,A D;k bls Hkkjr dk izFke Lok/khurk laxzke dgk tk

ldrk gS \

11. Explain the reasons for the  formation of the  Swaraj  Party.  Describe its role in the

freedom struggle of India. 4+4=8

OR
Read the following statement and answer the questions that follow :

“After leading a popular movement for twenty years and continuous struggle of
trying to solve problems and asking for concessions he has received brickbats instead of
food ... the Indians should no longer be satisfied with mere mendicancy neither should
they beg the English for concessions.”

(i) Explain the context in which this statement was made.

(ii) This statement marked the beginning of a new phase in the freedom movement. What
was this new phase ?

(iii) What did this change signify ?

(iv) Explain the differences between the Moderates and the Extremists. 2+1+1+4=8

Lojkt ikVhZ ds xBu ds dkj.kksa dks Li"V dhft,A Hkkjr ds Lora=krk la?k"kZ esa bldh Hkwfedk dk o.kZu

dhft,A

vFkokvFkokvFkokvFkokvFkok

fuEufyf[kr oäO; dks if<+, vkSj iwNs x, iz'uksa ds mÙkj nhft, %

^^chl o"kks± rd ,d yksdfiz; tukanksyu dk usr`Ro djus vkSj dfBukb;ksa dks nwj djus rFkk

fjvk;rsa izkIr djus ds iz;kl esa fujarj la?k"kZ djus ds ckn mUgsa jksVh ds cnys iRFkj gh feys gSa ---

Hkkjrh;ksa dks vc dsoy fHk{kko`fÙk ls lUrq"V ugha gksuk pkfg,] u gh mUgsa vaxzstksa ls fjvk;rksa dh Hkh[k

ek¡xuh pkfg,A**

(i) mi;qZä oäO; fdl lUnHkZ esa fn;k x;k \ Li"V dhft,A

(ii) bl oäO; ds ckn Lora=krk vkanksyu esa ,d u;k eksM+ vk x;kA og u;k eksM+ D;k Fkk \

(iii) ;g ifjorZu D;k n'kkZrk gS \

(iv) mnkjokfn;ksa vkSj mxz jk"Vªokfn;ksa esa varj Li"V dhft,A
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12. On the given political map of India (on page 9) mark and label the following : 5

Any five states which were under the protected area of East India Company in 1818.

OR

(i) Two major centres of the Revolt of 1857 in Tamil Nadu.

(ii) Two major centres of the Revolt of 1857 in Maharashtra.

(iii) The place where Mangal Pandey refused to bite the greased cartridge in 1857.

fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd ekufp=k ¼i`"B 9½ ij fuEufyf[kr dks fpfÌr dj muds uke fyf[k, %

dksbZ ik¡p jkT; tks 1818 esa bZLV bafM;k dEiuh ds lajf{kr {ks=k esa FksA

vFkokvFkokvFkokvFkokvFkok

(i) rfey ukMq esa 1857 esa 1857 ds fonzksg ds nks izeq[k dsUnzA

(ii) egkjk"Vª esa 1857 ds fonzksg ds nks izeq[k dsUnzA

(iii) og LFkku tgk¡ ij 1857 esa eaxy ikaMs us pchZ okys dkjrwlksa dks nk¡rksa ls dkVus ls euk dj

fn;k FkkA

Note : The following question is for the Blind Candidates only in lieu of Q. No. 12.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu fo|kfFkZ;ksa ds fy, iz'u la[;k 12 ds LFkku ij gSA

Write the name of any five states which were under the protected area of East India

Company in 1818.

OR

(i) Mention the name of two major centres of the Revolt of 1857 in Tamil Nadu.

(ii) Mention the name of two major centres of the Revolt of 1857 in Maharashtra.

(iii) Mention the name of the place where Mangal Pandey refused to bite the greased

cartridge in 1857.

fdUgha ik¡p jkT;ksa ds uke fyf[k, tks 1818 esa bZLV bafM;k dEiuh ds lajf{kr {ks=k esa FksA

vFkokvFkokvFkokvFkokvFkok

(i) rfey ukMq esa 1857 ds fonzksg ds nks izeq[k dsUnzksa dk ukeksYys[k dhft,A

(ii) egkjk"Vª esa 1857 ds fonzksg ds nks izeq[k dsUnzksa dk ukeksYys[k dhft,A

(iii) ml LFkku dk ukeksYys[k dhft, tgk¡ ij 1857 esa eaxy ikaMs us pchZ okys dkjrwlksa dks nk¡rksa ls

dkVus ls euk dj fn;k FkkA
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CONTEMPORARY WORLD HISTORY

lelkef;d fo'o bfrgkl

13. In what way did the League of Nations try to placate France ? 2

jk"Vª&la?k us Ýkal dks fdl izdkj rq"V fd;k \

14. In what way did the Nazi invasion of the USSR change the course of World War II ? 2

ukft+;ksa ds }kjk lksfo;r la?k ij vkØe.k djus ls f}rh; fo'o ;q) dh fn'kk esa D;k ifjorZu

vk;k \

15. Mention one main reason for the Islamic Revolution of 1978 in Iran. 2

bZjku esa 1978 dh blykeh Økafr ds ,d izeq[k dkj.k dk mYys[k dhft,A

16. Mention one main objective of the European Economic Community (EEC). 2

;wjksih; vkfFkZd leqnk; (EEC) dk ,d eq[; mís'; crkb,A

17. Explain how the technology of single wind-mill has been improved to meet the needs of
energy in the modern world. 2

Li"V dhft, fd ,dy iou pDdh ¼flaxy foaM&fey½ dh izkS|ksfxdh dks vk/kqfud fo'o dh

ÅtkZ vko';drkvksa dh iwfrZ ds fy, fdl izdkj lq/kkjk x;k gSA

18. Mention any unique feature of the Bengal School of Art. 2

caxky dyk 'kSyh (Bengal School of Art) dh fdlh fof'k"Vrk dk mYys[k dhft,A

19. Explain how elasticity or flexibility is a characteristic of the contemporary world history.

Mention two other characteristics of contemporary world history. 3+2=5

OR
Explain the basis of Triple Alliance formed before the World War I. Mention any of its

consequences. 4+1=5

Li"V dhft, fd uE;rk ;k yphykiu lelkef;d fo'o bfrgkl dh fo'ks"krk dSls gSA lelkef;d

fo'o bfrgkl dh nks vU; fo'ks"krkvksa dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

Li"V dhft, fd izFke fo'o ;q) ls iwoZ xfBr f=kjk"Vªh; laf/k dk vk/kkj D;k FkkA blds fdlh

ifj.kke dk mYys[k dhft,A

20. Describe the main reasons for the rise of Fascists to power in Italy and mention one of

its effects on Italy. 4+1=5

OR
What was the nature of the social  problems in USA during the inter-World War period ?
Mention any reason for such problems.
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bVyh esa Qklhokfn;ksa ds lÙkk rd igq¡pus ds izeq[k dkj.kksa dk o.kZu dhft, vkSj blds bVyh ij iM+s

,d izHkko dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

fo'o ;q)ksa ds chp ds le; esa la;qä jkT; vesfjdk dh lkekftd leL;kvksa dk Lo:i fdl izdkj

dk Fkk \ ,slh leL;kvksa ds dksbZ dkj.k dk mYys[k dhft,A

21. Why  was  the  Cultural  revolution  started in  China ?  Mention  one  of its  important

features. 4+1=5

OR
Examine the main basis of the Korean War of 1950. What was China’s role in it ?      3+2=5

phu esa lkaLÑfrd Økafr D;ksa izkjaHk gqbZ \ bldh ,d izeq[k fo'ks"krk dk mYys[k dhft,A

vFkokvFkokvFkokvFkokvFkok

1950 ds dksfj;k ;q) ds eq[; vk/kkj dk ijh{k.k dhft,A blesa phu dh D;k Hkwfedk Fkh \

22. When did Japan surrender during the World War II ? Explain the main developments

which led to her surrender. Discuss two of its main consequences on world politics.   1+5+2=8

OR
What is meant by Cold War ? Discuss its main features and also mention the main

rivals in the Cold War. 2+4+2=8

f}rh; fo'o ;q) esa tkiku us vkReleiZ.k dc fd;k \ mlls vkReleiZ.k djkus okyh izeq[k ?kVukvksa

dks Li"V dhft,A fo'o jktuhfr ij blds nks izeq[k ifj.kkeksa dk foospu dhft,A

vFkokvFkokvFkokvFkokvFkok

'khr ;q) ls D;k vk'k; gS \ bldh izeq[k fof'k"Vrkvksa dk foospu dhft, vkSj 'khr ;q) ds izeq[k

izfr}afn;ksa dk ukeksYys[k dhft,A

23. On the given outline map of Europe (on page 11) mark and name any three countries
which formed the Central Powers and any two countries which were neutral during the

First World War. 3+2=5

OR
On the given outline map of Europe (on page 11) mark and name any five countries

which were in the Communist block during the Cold War period. 5

fn, x, ;wjksi;wjksi;wjksi;wjksi;wjksi ds :ijs[kk&ekufp=k ¼i`"B 11½ ij izFke fo'o ;q) ds nkSjku dsUnzh; 'kfä;ksa dk

xBu djus okys fdUgha rhu ns'kksa rFkk rVLFk jgus okys fdUgha nks ns'kksa dks fpfÌr dj muds

uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

fn, x, ;wjksi;wjksi;wjksi;wjksi;wjksi ds :ijs[kk&ekufp=k ¼i`"B 11½ ij 'khr ;q) ds dky ds lkE;oknh xqV ls lac) fdUgha

ik¡p ns'kksa dks fpfÌr dj muds uke fyf[k,A
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Note : The following question is for the Blind Candidates only in lieu of Q. No. 23.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy us=kghu fo|kfFkZ;ksa ds fy, iz'u la[;k 12 ds LFkku ij gSA

Mention two countries which belonged to the Central Powers and two neutral countries
during the First World War. Describe two effects of the war on the Central Powers.

OR

What was the Warsaw Pact ? Mention any four countries which signed the pact.

izFke fo'o ;q) esa dsUnzh; 'kfä;ksa dk xBu djus okys nks ns'kksa vkSj rVLFk jgus okys nks ns'kksa dk

ukeksYys[k dhft,A dsUnzh; 'kfä;ksa ij ;q) ds nks izHkkoksa dk o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

oklkZ le>kSrk D;k Fkk \ bl le>kSrs ij gLrk{kj djus okys fdUgha pkj ns'kksa dk ukeksYys[k dhft,A
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